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(76) AR’ aoe-il [Azael sk g wiy ?
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(77) Al 2068l viid A du d Risey s ?
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(78)  ‘El3t-il A1 Gl 12 L3l Uls y3 R, 33 Glrie] 2121 - 5106
(A) evll (B) eslRy ©) R4t
(79)  [QreiF&L-AL GRd ML 24 lu g qusy 8 ?
(A) elat ! ed [FRid a4 !
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80) 1% 2t Al AL A WA s Qo A R sey o) 87

(A) 8L~ URIE, €1R§ (B) 52 - U8, B

(C) Sl - M-, 5w (D) 52 - 32w, 2y
81) uu‘{q USHHL B $3e w66 BRI oy 1) Gy g sy 549 ?

(A) 1 20 Yo 3 619 aiza -], (B) 514 QUuaR &1y A % 211, 8.

(C) it Al o A2 blu A B, (D) 633 virasaiell ueualE wau si 539 A
(82) ‘ellarl’ wce-lARRNE g iy ?

(A) gL+ 3 (B) 2 + D\
(C) e+ 3af (D) ell + s
(83) ulai awsi ‘s’ sy ?
(A) L AHUHL ELSL %RUR WL (B) 2181 YALA MU SHLRL.
(C) ASIR g2l 2L HBA 1% 2401y . (D) 1205 555 ol A Sld..

(84)  ‘e9o{l WR H-ARUH, Qvial-ll GUid wIUR 51291 {lasell.’ - alsul IWBd S3d 268 “VRuR’
BuifQgimedl syl usiR 9 ?

(A) 2emall Bulaaye (B) AHu s Faladyey

(©) s Buladua (D) 2uas BuRAve
(85)  “HIRL Al Al A 2aU e, 2 Uy’ - MESIR Lol

(A) A[dRs vd5R (B) @i[aaifsd vdsiz

(C) 3Us AdSR (D) GUHL 7512

(86) Mahesh was too smart. (Remove ‘too’ without changing the meaning.)
(A) Mahesh was not smart at all.
(B) Mahesh was smart more than required.

(C) Mahesh was foolish.
(D) I was doubtful whether Mahesh was smart or not.

(87) ~ .l INS Arihantis ......ccccoeeee.e. Indian Naval ship. (Fill in the blanks)
(A) The & an (B)An & an
(C)A&an (D) The & the
(88) Most students have brought their homework. ..................... of them have not completed it yet.
(A)None (B) Few
(C) Each (D) Alittle
(89) 3 3R ALYl SYLAL. - AL AlsUe] ALs5U iAW Ui g U9 ?
(A) I cut my hair. (B) Iclipped my hair.
(C) | got my hair cut. (D) Thada nice hair cut.
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(90)
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(92)

(93)

(94)

(95)

(96)

97)

(98)

(99)

(100)

Give the nearest meaning of word : {Phantom’.

e tangible

(A) existent (B) imaginary (C) corporeal (D)tang
Give the verb form of “little’. -
(A)alittle (B)unlittle (C) belittle (D) bilittle
Change the voice : “What caused COVID-19 ”

-199
(A) What was COVID-19 caused by ? (B) What was caused by COVID-19 ?
(C) By what is COVID-19 caused ? (D) By what COVID-19 was caused ?

Select the word or phrase which is closest to the opposite in meaning of the underlined word : “Rahy|
will never aceept your request.”

(A) turn over (B) turn down (C) turnup (D) reject

Add a suitable question tag : Radha, one of my neighbours slipped off a staircase. ............. ?
(A)did she (B) does she (C) doesn’t she (D) didn’t she

Fill in the blanks with appropriate set of prepositions : Nidhi travelled................ hermotherall..............
the world when she was 17 years old.

(A) by, above (B) for, around (C) with, around (D) with, over

Turn this sentence into English : “s% 4@ § A9 i sl QAlell A 915l edl.”

(A) I could still saw her standing there alone. (B) I could still see her stood there alone.

(C) Icouldsstill see her standing there alone. (D) Icanstill see her standing there alone.

Fill in the blanks with the appropriate word / words : Rohan and Nayan have been on vacation
..................... May 2023. They ..................... to Manali for a week.

(A) for, had gone (B) since, had gone (C) for,have gone (D) since, have gone

Mantra got the first prize last week. Find out the correct option to get the underlined answer.
(A) Which prize did Mantra get last week ?

(B) When did Mantra get the first prize ?

(C) Which prize Mantra got last week ?

(D) Where did Mantra get the first prize ?

Ravi......n...., in this company for five years. Find out correct form of verb from the options.
(A) works (B) is working

(C) has been working (D) have worked

Find out the correct spelling from the options.

(A) Spactacular (B) Spectacular

(C) Spactaculor (D) Specteculor
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